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(a) Complete data (n=50, p=2)
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(b) Missing data I (n=50, p=2)
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(c) Missing data III (n=50, p=2)
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(a) Complete data (n=100, p=2)
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(b) Missing data I (n=100, p=2)
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(c) Missing data III (n=100, p=2)
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(a) Complete data (n=200, p=2)
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(b) Missing data I (n=200, p=2)
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(c) Missing data III (n=200, p=2)
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(a) Complete data (n=500, p=2)
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(b) Missing data I (n=500, p=2)
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(c) Missing data III (n=500, p=2)
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(a) Complete data (n=1000, p=2)
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(b) Missing data I (n=1000, p=2)
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(c) Missing data III (n=1000, p=2)
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(a) Complete data (n=50, p=3)
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(b) Missing data I (n=50, p=3)
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(c) Missing data III (n=50, p=3)
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(a) Complete data (n=100, p=3)
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(b) Missing data I (n=100, p=3)
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(c) Missing data III (n=100, p=3)
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(a) Complete data (n=200, p=3)
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(b) Missing data I (n=200, p=3)
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(c) Missing data III (n=200, p=3)
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(a) Complete data (n=500, p=3)
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(b) Missing data I (n=500, p=3)
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(c) Missing data III (n=500, p=3)
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(a) Complete data (n=1000, p=3)
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(b) Missing data I (n=1000, p=3)
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(c) Missing data III (n=1000, p=3)
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(a) Complete data (n=50, p=4)
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(b) Missing data I (n=50, p=4)
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(c) Missing data II (n=50, p=4)

-3 -2 -1 0 1 2 3

Quantiles of N(0,1)

-3

-1

1

3

Q
u

a
n

ti
le

s
 o

f 
s
ta

n
d

a
rd

iz
e

d
 k

u
rt

o
s
is

(d) Missing data III (n=50, p=4)
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(a) Complete data (n=100, p=4)
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(b) Missing data I (n=100, p=4)
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(c) Missing data II (n=100, p=4)
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(d) Missing data III (n=100, p=4)
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(a) Complete data (n=200, p=4)
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(b) Missing data I (n=200, p=4)
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(c) Missing data II (n=200, p=4)
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(d) Missing data III (n=200, p=4)
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(a) Complete data (n=500, p=4)

-3 -2 -1 0 1 2 3

Quantiles of N(0,1)

-3

-1

1

3

Q
u

a
n

ti
le

s
 o

f 
s
ta

n
d

a
rd

iz
e

d
 k

u
rt

o
s
is

(b) Missing data I (n=500, p=4)
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(c) Missing data II (n=500, p=4)
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(d) Missing data III (n=500, p=4)
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(a) Complete data (n=1000, p=4)

-3 -2 -1 0 1 2 3

Quantiles of N(0,1)

-3

-1

1

3

Q
u

a
n

ti
le

s
 o

f 
s
ta

n
d

a
rd

iz
e

d
 k

u
rt

o
s
is

(b) Missing data I (n=1000, p=4)
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(c) Missing data II (n=1000, p=4)
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(d) Missing data III (n=1000, p=4)
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(a) Complete data (n=50, p=5)
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(b) Missing data I (n=50, p=5)
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(c) Missing data II (n=50, p=5)
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(d) Missing data III (n=50, p=5)
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(a) Complete data (n=100, p=5)
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(b) Missing data I (n=100, p=5)
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(c) Missing data II (n=100, p=5)
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(d) Missing data III (n=100, p=5)
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(a) Complete data (n=200, p=5)
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(b) Missing data I (n=200, p=5)
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(c) Missing data II (n=200, p=5)
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(d) Missing data III (n=200, p=5)
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(a) Complete data (n=500, p=5)
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(b) Missing data I (n=500, p=5)
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(c) Missing data II (n=500, p=5)
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(d) Missing data III (n=500, p=5)
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(a) Complete data (n=1000, p=5)
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(b) Missing data I (n=1000, p=5)
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(c) Missing data II (n=1000, p=5)
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(d) Missing data III (n=1000, p=5)


